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CPMC-551

M.Com. (Previous) Examination, 2023

BUSINESS MANAGEMENT
Paper - IV

(Managerial Economics and Management Accountancy)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries
2 marks.
(@us-3) (3® : 2 x 10 = 20)
e - it T T B SW AT (S-S 50 IK) | YAF U 2 3F T
Section-B (Marks : 8 x 5 = 40)
Note .— Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(Tus-a) (3T : 8 x 5 = 40)
qe - WA S R Ut T & W SIS (S| 200 ) | YAF 9T 8 ITh
Al
Section—C (Marks : 20 x 2 = 40)
Note .— Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(@us—a) 37k : 20 x 2 = 40)
A~ SR H 9 fFE U % SW SIS (SW-HT 500 %) | Tow T 20 HF H

T
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Section-A
(Tus-3)
1. (@ What do you mean by Flexible Budget ?

el osfe | 379 91 §He § 7

(i) What is meant by Cash Equivalents ?
ke qodi 9 1 W 7 2

(iii)) Explain Economic Growth.
it gfg *1 TmEmET)

(iv) What is Monopolistic Competition ?
TR IR &1 ¥ ?

(v)  What do you mean by Price Discrimination ?
Iog fadg ¥ oy F=n gme € ?

(vi)  What is Gross Working Capital ?
THA HETA gt Fm ¥ 2

(vil) What do you mean by Managerial Economics ?
TERRT SIS W Y 1 WA § 7

(viii) What is Acid Test Ratio ? Give its formula.
T W@ ST 1 T 7 THR! MU W A I

(ix) What do you mean by Cash Budget ?
qFg a5 § &9 =1 9974 § ?

(x)  What do you mean by Semi-fixed Cost ?

G- AN Y ST A WEEd § 2
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Section-B
(TUs-9)
2. The profit-volume ratio of a firm producing a standard product is 50% and the

margin of safety is 40%. Compute the break-even point and net profit if the sales

are ¥ 50,00,000.

TF ®H S YA SIS T SCIEA Al 8, T SMY-H ST 50% T & S 40%
%1 afg wd g/ T 50,00,000 FT Tt wt Wt ¥, @ @H-fasg foag qen g oy wi
TOMT hHifST |

3. Distinguish between micro economics and macro economics.

HAfte 1T IR e AT § TR T HifTT |

4. Explain the uncertainty bearing theory and innovation theory of profit.

o

Y & AMTEAd 98T IR Favedd faga S THEE |

5.  Give brief description of any four techniques of demand forecasting.

T gargAE it fe | fafie @ wfva foero s

6. In X Company Ltd. for a production level of 20000 units, the wages paid are
% 1,50,000 and a level of 30000 units the wages paid are ¥ 2,00,000. What is the

variable cost per unit ?
X &t fafaes § 20000 a1 & SR ®R W YA & T Aegd T 1,50,000

A 30000 $HEEA H WR W TEGH PIEAHE T 2,00,000 T G sHEE aRadwia @
fat & 2

7.  Ram Ltd. has a current ratio of 4.5 : 1 and liquid ratio of 3 : 1. If its inventory

is ¥ 72,000, find out its total current assets and current liabilities.

T fafaee &1 =g I 4.5 ;1 9 @Ra U 3 1 1 AR sHAE W g
3 72,000 ¥, @ wH =I¢] THfEl TE A SIfae @ F IS
8. Explain the objectives of management accountancy.
YeIeh1T Eieh & Segdl ol dUF Shifold |
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Section—-C
(@ues-—|)

9. Explain the methods of measuring national income. What are the difficulties in
analysing national income ?

T AT ] A Hi [SE 1 9uF SIfSw | T2 A9 & faveoo § 69 wieea
1 WA HTA TSaT § 2

10. What do you understand by capital structure of a company ? Explain various
factors influencing capital structure.

HIA T Yol AT | ST A TR © 2 Y WA i yefed & At fafie awt
% FHEET |

11. From the following informations, calculate the working capital required by
operating cycle method :

(1) Operating cycle period = 95 days.
(ii))  Total operating expenses = ¥ 18,00,000.

(ii1l) A cash balance equal to one-third of the other average working capital is
kept for contingencies.

= gemelt ¥ uRaem = fafy @ sravgs wEieha gsit &t IO RIS
() wR=em =% sw@fy = 95 faA|
(i) o R=eH == = 3 18,00,000 |
(iii) o= siEa wEfeha gt 1 Tw-faee oo e & &9 # eTwfmewast & fau
@ S
12. Explain with reasons whether the following will effect the funds flow statement :
(1) Sale of machinery to repay the creditors.
(ii))  Purchase of building in exchange of fully paid up shares.
(ii1)  Furniture purchased on credit.
(iv)  Depreciation on assets.
HRO gfed aaey & = =1 f yar fgawor | =1 999 2w
(i) o ER w1 gwH g R w1 fawmal
(ii) 9o BRGH & a8 O UgW STl a1 FRiEA |
(iii) YR ®AR & B
(iv) S=fd 1 JoagE |
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